
Lecture 3 - January 17

Math Review

Propositional Logic & Predicate Logic



Announcement 

• Lab1 released 
+ tutorial videos
+ problems to solve
+ Study along with the Math Review lecture notes.
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Q. Are the ∧ and ∨ operators equivalent to, respectively, && and || in Java?

Logical Operator vs. Programming Operator
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Assessing Array

is= 0 && ica length
stagin.1043-D ⑦

1/ exptessi,the~ conditions
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& I == -7 D evaluates to ID,skipped
overall:If
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③ skipped to overall:If
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Exercise Assume a length ==10
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Exercises:Toy other ordering ofguarding conditions



Implication ≈ Whether a Contract is Honoured1

Tme => Tme =TrsBEONT Tme => False =False
I donei benefits

promised obligations
False => ime =

1 terms False => False =True

promisobligations contrasttobreached
terms fulfilled notregardlessoftheredone



Expressing Implications
q if p, p is sufficient for q

p only if q, q is necessary for p

q unless ¬p

p: snow storm
q: cancel class
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P is not is don't save.
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Identiti
trs => P
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false => P =The

false xp=
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Predicate Logic: Quantifiers

∀ i • R(i) ⇒ P(i)

∃ i • R(i) ∧ P(i)

- syntax
- base cases in programming

-> for each is
range property. If Isatisfies R,

then iis satisfied.
N

Simplicitlyif no such

G i satisfies RC
then Vis T

there's at least one I,
St. T is in the range and I satisfies P.-

I implicitly, if no such a satisfies is then J is F)


